EARAROBEEIERT — 2 N— IBISH —F

20185 7H 120 (K) 7EI%#A3H

IR >R C6# 5%—HK (xwlw | lmEmml - |5 ) eom 8
[AE4£] 17%&:180,000  ~ 2#&:42,000” ~ 33%&:18,000 M . 43%&:13,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S D] == PG 45, -1-1- 4l - KEFEKR (%12)
1155 JarRrKJ)Z>7 o4 54.0 1(4_5)1 1t 90.4 ! :ZO) N A=) i
T4 —=TTVI>T BNXI/THIT T BEtE
. = A EBEth 145, === . - HEET (KA
ol7l 7| 77y o H 5 o (11415/24) 2-2-2-2 | 39.6 2 (4+632) e A
XL ThANAN B4 hyb=57 HE Rk
— — ess HEEZ : —8-8- - KEFEKR (5542)
slil1|7399-=7= it 5 AR 1.?36).0 8-8-8-5 |38.8 6 <4+530) i A
L84 LINT Ry X B:TFI5HFAHIART L —ZK— M5
. A IES : -5-5- — SBREX (BHE)
4 4|75>71-2 it 4 el 1(/;?:5) 4-5-5-7 | 39.3 3 (4_213; s
LA bk—L B:U5 Fv—Ta (/) #HEI-FL—Ya>AET7
N . 4 4 | L. YL 1:46.2 3-3-3-3 | 40.1| — 4 431 | BEEER (%13)
5|89 | F¥3IFr> 54.0 (1 1/2) wa) | @ Nyt
Ribh—trAhvLARY BIIXZLNIZ— KiLHH
- i o6 | EERA 1:46.3 7-66-6 | 39.4| — 5 408 | BEIRA (5212)
EE 2| F=RT 1> 54.0 (7€) -6) Fizﬁ) K—24T
RiZ =32 TR—L B:IATUYNLZIHIZ g—L—- I vIN> T7—LERE
. s 6 | AFHIE 1:46.9 4-4-4-4 | 40.4| — 8 433 | BEREE (1)
78|8| HVANTT 54.0 3 +2) W) 77 bEvas
XA aIY LYY BiHREUT =¥ Ty — L
H o6 | B 1:48.7 6-7-7-8 | 4.7 — | 7 | 460 |PNEREMR (SH)
8 3| A/ t1 56.0 ©) o |PEsE
L:TUHA XTI R B:oawl)/RKRII Fxaps e
N SN PR AE — - - - - — | EHEE (%)
£ 6 A i Ho4 56.0 * (B4 (=) =) i
LY LIAN=—F B XA—bT7TLX 1EAE #7F)
® I—F—@EBIERL
|S=7r= 5,7,9,(4,8),3,2,1
Ao=5"= 5,7,9,8,4,2,3,1
G=7"= 5,7,9,8,4,2,3,1
40—F— 5,7,9,8,1,2,4,3
[ RN
B 5 190M 794K 5-7 130M % E 5-7 260M &R 1-5-7 840M
# B 5 110M =5 390F B E &=/ 220 EE G=7=1 1,930
7 1509 1-7 500M B H 5-7 280M
1 260/

ABICOVWTRDTEEERROODE. TR LIV,




